
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

drei Brüche, Deikmal, Operationsreihenfolge mit
Klammern

4( − 2, 7) =
4
1

( + ) ÷ 3 =
5
72

4
9

(2 + 4, 2) × 3, 8 = (5 + 2, 1) × 5 =

(14 − ) ÷ 5 =
3
5

( + ) ÷ 5 =
3
10

4
15

( + ) ÷ 7 =
2
49

10
343

3( + 2, 4) =
5
1

(2 + ) × 4, 7 =
5
3

( − ) ÷ 3 =
4
9

5
9
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

drei Brüche, Deikmal, Operationsreihenfolge mit
Klammern

4( − 2, 7) = (− )
4
1

5
49

( + ) ÷ 3 =
5
72

4
9

20
111

(2 + 4, 2) × 3, 8 =
25
589

(5 + 2, 1) × 5 =
2
71

(14 − ) ÷ 5 =
3
5

15
37

( + ) ÷ 5 =
3
10

4
15

12
17

( + ) ÷ 7 =
2
49

10
343

5
42

3( + 2, 4) =
5
1

5
39

(2 + ) × 4, 7 =
5
3

50
611

( − ) ÷ 3 =
4
9

5
9
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3
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